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                                                                                                 世界測地系

                                               隅   切   座   標   計   算

         登録No   点 名             Ｘ座標       Ｙ座標    登録No   点 名             Ｘ座標       Ｙ座標

                                       m            m                                    m            m

             5  ( B-R5       )  -61 605.907  -71 727.260          ( 隅切長     ) L =    5.000

             7  ( A-R3       )  -61 739.667  -71 679.898          ( 交　角     ) θ=   85°37′17″

             8  ( B-R7       )  -61 724.240  -71 645.047          ( 隅切剪除長 ) l =    3.679

         [計算点]

          4952  ( 4952       )  -61 736.199  -71 681.126    4953  ( 4953       )  -61 738.178  -71 676.534

             5  ( B-R5       )  -61 605.907  -71 727.260          ( 隅切長     ) L =   10.000

             9  ( B-R6       )  -61 689.657  -71 670.547          ( 交　角     ) θ=  124°40′ 4″

            11  ( B-R9       )  -61 690.488  -71 585.979          ( 隅切剪除長 ) l =    5.645

         [計算点]

          4954  ( 4954       )  -61 684.982  -71 673.712    4955  ( 4955       )  -61 689.712  -71 664.902

             4  ( B-R3       )  -61 637.119  -71 673.186          ( 隅切長     ) L =    5.000

             7  ( A-R3       )  -61 739.667  -71 679.898          ( 交　角     ) θ=    6°50′46″

             9  ( B-R6       )  -61 689.657  -71 670.547          ( 隅切剪除長 ) l =   41.870

         [計算点]

                (            )  -61 689.657  -71 670.547    4957  ( 4957       )  -61 698.511  -71 672.202

             5  ( B-R5       )  -61 605.907  -71 727.260          ( 隅切長     ) L =   10.000

             9  ( B-R6       )  -61 689.657  -71 670.547          ( 交　角     ) θ=   67°10′22″

            13  ( B-R11      )  -61 650.503  -71 645.054          ( 隅切剪除長 ) l =    9.038

         [計算点]

          4958  ( 4958       )  -61 682.173  -71 675.615          (            )  -61 682.173  -71 675.615

             6  ( B-R4       )  -61 630.334  -71 711.208          ( 隅切長     ) L =   20.000

             8  ( B-R7       )  -61 724.240  -71 645.047          ( 交　角     ) θ=  140°53′43″

            10  ( B-R8       )  -61 733.614  -71 611.762          ( 隅切剪除長 ) l =   10.612

         [計算点]

          4959  ( 4959       )  -61 715.565  -71 651.159    4960  ( 4960       )  -61 727.117  -71 634.832


